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Lets Work Together, We Hard, You Smart
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T.B.C. : BXC-B-GYLI Test Booklet Series

TEST BOOKLET

GENERAL STUDIES
PAPER - II

L IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

2. Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer

Sheet liable for rejection.
3.  You have to enter your Roll Number on the
Test Booklet in the Box provided alongside.
DO NOT write anything else on the Test Booklet.

4.  This Test Booklet contains 80 items (questions). Each item is printed both in Hindi and English.
~ Each item comprises four responses (answers). You will select the response which you want to mark
on the Answer Sheet. In case you feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.
5.  You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.
6.  All items carry equal marks.

7. . Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

8.  After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to take
away with you the Test Booklet.

9.  Sheets for rough work are appended in the Test Booklet at the end.
10. Penalty for wrong answers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE.

(i) There are four alternatives for the answer to every question. For each question for which a
wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that
question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for
that question.
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assage —

Lets Work Together, We Hard, You Smart

Directions for the following 4 (four) items :

Read the following four passages and answer the Approximately 80 percent of all flowering
items that follow. Your answers to these items should

plant species are pollinated by animals, including.
be based on the passages only.

birds and mammals, but the main pollinators are
Passage - 1 insects. Pollination is responsible for providing
us with a wide variety of food, as well as many
Researchers simulated street lighting on | plant-derived medicines. At least one-third of the -
artificial grassland plots containing pea-aphids, world’s  agricultural crops depend upon

sap-sucking insects, at night. These were exposed pollination. Bees are the most dominant taxa
to two different types of light — a white light

: when it comes to pollination and they are crucial
similar to newer commercial LED lights and an

to more than four hundred crops. Pollination is
amber light similar to sodium street lamps. The

low intensity amber light was shown to inhibit,
rather than induce, flowering in a wild plant of

an essential service that is the result of intricate
relationships between plants and animals, and
the reduction or loss of either affects the survival

the pea family which is a source of food for the

pea-aphids in grasslands. The number of aphids of both. Effective pollination requires resources,

was also significantly suppressed under the light such as refuges of pristine natural vegetation.
treatment due to the limited amount of food

available. 2.  On the basis of the passage given above, the

following assumptions have been made :

1. Which one of the following statements best 1. Sustainable production of India’s cereal
reflects the most critical inference that can food grains is impossible without the
be made from the passage given above ? diversity of pollinating animals.

(a) Low intensity light has more adverse 2. Monoculture of horticultural crops
effect on the plants as compared to high hampers the survival of insects.
intensity light. 3.  Pollinators become scarce in cultivated

areas devoid of natural tation.
(b)  Light pollution can have a permanent - vegetation

adverse impact on an ecosystem. 4.  Diversity in insects induces diversity of

plants.

(¢)  White light is better for the flowering of
. il Which of the above assumptions is/are

plants as compared to the light of other

valid ?
colours.
: (a) 1only
(d)  Proper intensity of light in an ecosystem (b) 2,3 and 4 only
is important not only for plants but for (¢ 1and2only
animals too. (d) 3and 4 only
BXC-B-GYLI (37A)

Ashok Nagar X Roads, Hyderabad-20 | www.ekamiasacademy.com | 81210 17337




%@&,

EKAM IAS ACADEMY

BXC-B-GYLI

uﬁa}g_3 TREDG — g oo s R e

dftemrg i FEG TdEE Wy IRt YAfaiia Ygueh foebHTa A (BPA)
STy Hisa H I HW@ Y Feary ThE & dfyenfadt (=ieifRms) ywmEl &1 gar T &
¥ gl W fpu T steEA § i 3R foq =n FfEe #1 s FE g% ® |
e e § Ry A v oA R R | TN T R T I, AR sl Rl

1 T § wH @l TS | 3 Feard! giEdH
F W AT F TAF WHI W IWE TS,
gfumreaEy ftes AT § 9@ 98 Sem 3R
Sa % gRe (fen) & wft smeft, qen
Hiooie-=r gwifad &M | 39 stfafts, T59 |
@1 Teq I TRERAT # g 7 | FH B,
woe gaM % foe Winee gEmeE W e
1 fasfean o1 2 |

frafafgs # & - FoF Iugw TRest &
TeT 9Ta &1 qEATTH &9 @ FIMAT 2 ?

(a) &g voag dsc w1 fGEm
FAATY-FIFe (FARHSTHE) FY wgfer

4.

FqEmIaE & foe e o= 9. 9t s
BPA & WM & g S i yofim wHA
HifERre & e & < e siftsafe Tesa
#I 99 & foe Saxmmfs i Sifvew-sna i@
MY % EASA 1 9 R | 9 S
iR TR N8 wyfie 9 T (9 9R) &
w8 faféem & forw BPA snfawrgan (effaafadt)
T qaT T 3R HAHET S, q97 G T9Th
Fifsrenrd gira 1 § 9% @ |

It uftedg & R W, frefafed gaamomd
TR R

1. BPA, stail # (39 i) it fawm =
yftafda st aehar 2 |

TGO & B AT W ITER H @
FE H SauEEtes R Hifem-smaia

A T YA I § |
b gl Fougfel swmR Wl 3 gufaelia wge % i
HETgEl U Aeafus faftar &t &9 e s H g HA & fau yofm w=w
TehaT 2 | FIRERT Gieed & &9 § HE H bl 8 |
(c) Vioarg afEd ¥ et e 1 HE g1 I § & e g w2
z,lmﬁﬁmﬁrm'ﬂmmaﬂw G e
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Passage - 3

A study conducted on the impacts of
climate change over the Cauvery basin of
Tamil Nadu using regional climate models
showed an increasing trend for maximum
and minimum temperatures, and a decrease
in the number of rainy days. These climatic
shifts will have an impact on the hydrological
cycles in the region, lead to more run-off and
less recharge, and affect the groundwater
tables. Further, there has been an increase in
the frequency of droughts in the State. This

has driven farmers to increase dependency

_— ———

EKQM IAS ACADEMY
Passage -

Lets Work Together, We Hard, You Smart

Researchers were able to use stem cells to
gauge the neurotoxic effects of the environmental
pollutant Bisphenol A (BPA). They used a
combination of biochemical and cell-based assays
to examine the gene expression profile during the
differentiation of mouse embryonic stem cells
upon treatment with BPA, a compound known to
cause heart diseases, diabetes, and
developmental abnormalities in humans. They
were able to detect and measure BPA toxicity

towards the proper specification of primary germ

layers, such as endoderm and ectoderm, and the

on groundwater resources to secure their establishment of neural progenitor cells.

Ccrops.

4.  On the basis of th i bove, th
3.  Which one of the following statements best 7 ? ST TR R ahOve, S
following assumptions have been made :

reflects the crux of the passage given above ?
1. BPA may alter embryonic development

(a) Development of regional climate models in vivo.
helps in  choosing  climate-smart 2. Biochemical and cell-based assays are
agricultural practices. useful in finding out treatments for
pollution-induced diseases.
(b) Heavy dependence on groundwater _
resources can be reduced by adopting 3.  Embryonic stem cells could serve as a
dry-land cropping systeriis model to evaluate the physiological
effects of environmental pollutants.
(¢) Climate changes increase the criticality Which of the above assumptions are valid ?
of water resources while simultaneously
threatening it. (@) 1and 2only
(b) 2 and 3 only
(d) Climate changes cause the farmers to (o i
c and 3 on
adopt unsustainable livelihoods and Y
risky coping strategies. (d 1,2and3
BXC-B-GYLI
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T B8 Tpa i SfafawE A wan 3 gEigEe
amrn fob agett it T emed waw 12 9
# gl & Smoft | fee T seReR % SIgER
¥ 2021 ¥ W # gy H AEE 50 B
Ife n au1 % gvETd il AEET B P & FEfa
e S 2, @ f=fafge @ ¥ +F=an
THieRuT, HET G SAIC 7T & 6 [isa Hi
frefia = 2 2

(a) P=12+50n

(b) P=50+12n

(¢) P=50(2)2n

(d P=50(2)™12

us He °, 609 Taenef g & & ot farnfd
FT 50% deHal & | afe wrdr ferenfert § 30%
wefral 8, @ faesft faenfdi & fora wfowma
TqSH & ?
(a) 45%
(b) 40%
(¢0 30%
d 20%

s HyF A R mn R, R swim i
3t frsdan fo T & | SR 3@ B H W
WA §T W H IW AT 2, WA E I8 WA
9 ¥ §id aeAi i gfE & Ta wedta 9 & | @
fspst @1 g IR doavEa favlr w6
FHa /e e fir T F gER
ThETE 2/E, v € 4 W &9 § Fa ae
FPITE@AE

Fo7: P oA, Hama & | @f Hewd,

FI E | T HA, T |

ot freel ;. Fo e Fiftaa se @ vt €
(a) 217§ .11 : $ Hiege fAfved ®9 8 91 2 |
fraffea d A sAa adt 2 2
®) 20% (a) o FeRe-I
© 197§ (b) Faa Fed-In
: (¢) Toreemd.1 o fsepd-11 g
@ 18W% @ = ar fsmda, 7 & e
BXC-B-GYLI (6=A)
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5. If 32919 ig divided by 10, then what is the
remainder ?
(&)1
(b) 3
ey 7
d 9
6. The number 3798125P369 is divisible by 7.
What is the value of the digit P ?
(a) 1
(b) 6
(e) 5T
(9
7. From January 1, 2021, the price of petrol
(in Rupees per litre) on m*™ day of the year is
80 + 0'lm, where m = 1, 2, 3, ..., 100 and
thereafter remains constant. On the other
hand, the price of diesel (in Rupees per litre)
on n'! day of 2021 is 69 + 0-15n for any n. On
which date in the year 2021 are the prices of
these two fuels equal ?
(@) 21° May
() 20" May
© 19 May
@ 18% May |
BXC-B-GYLI s (T
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Lets Work Together, We Hard, You Smart

A biology class at high school predicted that a
local population of animals will double in size
every 12 years. The population at the
beginning of the year 2021 was estimated to
be 50 animals. If P represents the population
after n years, then which one of the following
equations represents the model of the class for
the population ?

(a) P=12+50n
(b) P=50+12n
(¢ P=50(2)20
(d P=50(2)"12

In a class, 60% of students are from India and
50% of the students are girls. If 30% of the
Indian students are girls, then what
percentage of foreign students are boys ?

(a) 45%
(b) 40%
(¢ 30%
(d 20%

A Statement followed by Conclusion-I and
Conclusion-II is given below. You have to take
the Statement to be true even if it seems to be
at variance from the commonly known facts.
Read all Conclusions and then decide which of
the given Conclusion(s) logically follows/follow

from the Statement, disregarding the
commonly known facts.
Statement : Some radios are mobiles. All

mobiles are computers. Some
computers are watches.

Conclusion-I: Certainly some radios are

watches.

Conclusion-II : Certainly some mobiles are

watches.
Which one of the following is correct ?
(a) Only Conclusion-I
(b)  Only Conclusion-II
(¢) Both Conclusion-I and Conclusion-II

(d) Neither Conclusion-I nor Conclusion-II
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Hfy arifeafah & a1 & 78 s@uwon 7
Hiy witfeafes @3t w wefas itfeafos @&

Referfega 4 (ar) wvamvn & forg g :

719 R T 'm 9Ri=sel # 9le 3k wk=sel & 7
377 et FeI & IR A | 57 yeen F for|
37T9% I Fact 37 IR=eql 7 & menha 517 3T |

ufese -1

siefi fie wrswe) & ga B WA, Tl
ufSrn 3R suhieer o ufes amn S @ o 3 HfY
3k w'hd &1 § g &9 ¥ 9w I §, JE
I 9 g¢ TEI BIA & | WpfaH Al A, T A
garE! i Bt 7, o % g@ I Wit
F foru Wiew Iueey wa #, 3R fafay yem &
FAnfaE (P @M Al WifvRE) <t ot sTmed
H B 4 & | A woweh vaft ok =wEs
e T gAY T T T 3SR %
g&t W R & & I @, @ qfam IR gE
T GEd # wowfEEl # ggEr § Hhd § |
IIHA GEH-TaTg H, ISR JE & AE-IH F
St & gait % THET WY I TR & |

11. 39 ufteae % MuR W, Frafafea qeeamom
T TS E
1. Tl a1 H, ISR % g& T FURH

Se-fafauar i 3 Hri-yuTelt H1 FTFHT HE
wfew | W HN eEHleat (ffew), e
Tpfas Aleel I R IAeH, Few-Nfa,
UINh-EEh, qI1 THd SR d9d & WA
gyegmeiia (Rfsfaere) &1 gt 8 | writfeurfas
it 4 o ot Sed’ 78 S B, 3R qiwe a=i H
I el % A TRV BT @ | iy arifeafaht
1 3¢9 1N o[l I §g B @, NATq, WH F
frpe g @ff G ql H HEAE @G *
YA HF qlieht % g g A g Ao ggeE
2 | 38 afata, Wefaes Sfshanedt 1 3w dewh
o % fom qon siaee $fy (Feswifam) &
g HE B IR W & forw oft e s R
Sy wiferfd vgfmt & wgea ok woal +

T et T e e 2 |

12. frafafas w fomm Hifse .

T (AT HIH)

1
et (-2 whefi) & aehdt § | 2. mjﬁaﬁ (pfeTem)
9. IR ¥ 3u a@l oft 30 wHA &, & I 3. W HaHd
oS HIE J& hI el T80 I Febell @ | 4. fufta sy
3. Sofafouam % wew & ufem gai A 5. Wg-uEM (diefiehe=)
firhT & Tl @ | 6. Seatdt H (aféwa wifd)
4. I 9@ ST F Ao P FHOH 7 AR
&t 6 i # | ofedt % IEER, IEW A ¥ FAA FM
I Hehdl 8 7
i 8 i oo = VA TRt it TR % g B w7
(@) Fae 132 (a) had 1,4 3R 5
(b) e 3 (b) e 2,3,4 3 5
(c) haol 2 3R 4 (c) ad 1,2,3 3N 6
(d) Haa 1,334 (d) Had 43N 6
BXC-B-GYLI ( 3-50) /
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Directions for the following 4 (four) items : Pafsne ~ 2 et ok i
Read the following four passages and answer the
items that follow. Your answers to these items should
be based on the passages only.

At the heart of agroecology is the idea that
agroecosystems should mimic the biodiversity

levels and functioning of natural ecosystems.
Passage - 1 : .
Such agricultural mimics, like their natural

Fig trees (genus Ficus) are considered models, can be productive, pest-resistant,

sacred in India, East Asia and Africa and are | nutrient conserving, and resilient to shocks and

common in agricultural and urban landscapes stresses. In ecosystems there is no ‘waste’,

where other large trees are absent. In natural niibrients b remyded. indefnitaly. :Agroecalogy

forests, fig trees provide food for wildlife when ; : : y ;
. aims at closing nutrient loops, i.e., returning all
other resources are scarce and support a high

density and diversity of frugivores (fruit-éating nutrients that come out of the soil back to the soil

animals). If frugivorous birds and bats continue such as through application of farmyard manure.
to visit fig trees located in sites with high human | It also harnesses natural processes to control
disturbance, sacred fig trees may promote pests and build soil fertility i.e., through

frugivore =~ abundance. @ Under favourable intercropping. Agroecological practices include

microclimate, plenty of seedlings of other tree integrating trees with livestock and crops.

species would grow around fig trees.

11. On the basis of the passage given above, the 13. dBonsider'the following:

following assumptions have been made : 1. Cover crops

13 Fig trees can often be keystone species 2= Fertigation

in natural forests. :
3.  Hydroponics
2. Fig trees can grow where other large

; 4.  Mixed farming
woody species cannot grow.

3. Sacred trees can have a role in 5.  Polyculture

biodiversity conservation. 6.  Vertical farming

4. Fig trees have a role in the seed Which of the above farming practices can be

dispersal of other tree species. ; ;
compatible with agroecology, as implied by the

Which of the above assumptions is/are

passage ?
valid ?
1, 4 and 5 onl
@ 1and2only (a) and 5 only
(b) 3only (b) 2,3,4and 5 only
(¢) 2 and4only (¢ 1,2,3and 6 only
(d) 1,3 and4only (d) 4 and 6 only

BXC-B-GYLI (924) A
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T Had hiee H1E & fFawur 3R geew 3
3 BT % T HRY H oY TG w@dl
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Tl deh Yedeh ae § gl wifte § e |
39 9@ H YHO g g TR A g (SR,
Fh IEheW TWhEl 1 gaw # s
foarerii g | 39 vedt & ¥® THIfE W g%
& 7 3 fotic @ I # o Y w1 g

fror (e seiet) o aehd & |

13. 394 ufedg & MuR W wigwiea, fFr=fafaa
o ¥ ST U Fafs [Ruias ey &t
qaive &G @ Fofar 2 2

et qft At gt 7E |

HIFaTT S FTell T ATSeR FR&T
Tivfirar & T ot F |

(a)

(b)

greT guen gaeht shor frmt Y srravashan
21

TR Wenfeht it adum gt wfoss #
BAR Sftae st werfara st |

BXC-B-GYLI
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-4

e, e, eI 3N sl
# qEmedt | SErar g 3R fifes ararEo
Tshtaesh M <l U 3c9a hidT & | Tree-fafy
(zr5sa) % fmfim = 2 =afem, @ ok
e e faf | ged @ Her T R R
fFTa TEE T@ o Thmsh U T A HHt
It B | fohg 3@ & 8 ST9R % waw 3 gean
St wra 5 T B, i fammt % smhmwe
TG GRT SR Bt 8 3R Yo Bt 8 | ufeem
A9 H1 W T8 i @ o saferma wameen-fafy
% FY-AY FAEiE el § w9 guwr a9
W Td, Woodl 3R W g 39 uewh d
gy /et geg/dshaer Y ol # gated et g R )
BT I TS TaH & Jfd I AT Wy 1
9 % fim wwE w5 ff @@ @, @
uritfeafashl W 3H% AHRIHS YU hH FEREAT
Bt & A¥aT IW FOW W e eI Smar ® ek
Ta@ wfadrt Jmopait 1 srgwfa g @ |

14. 39 U= & YR W, foreferfiga qefemomd
AE W E
1. @ & o st wreafafy w3
?ﬂg?,%mﬁmﬁm-ﬁﬁwwﬁ
|
2. AR Taeadl § ag-oitafyr wfereft Jmmopedt
% WIgHTa =1 framer fean s whar 2 |
3. wreen-fafy & &= § 9I9R & yaw & THHs
T =T Tl &7 2 |
4. GhMEH W & & Hl HH HH & AU
A 3R geu-wal gwaay gatd TE@ § |
5. 98 S WY I % HIEAH ¥ HEifed
e weea-fafy 8, St gshme W %
faeg @erE #§ araa § SOR R |
I ¥ | HH-H gaarend 7 § 2
(a) Had 1 3R 2
(b) e 3 3N 4
(c) a4 3 5
(d) ad 1,23 4

A)
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Passage - 3

Computers increasingly deal not just
with abstract dé.ta like credit card details
and databases, but also with the real world of
physical | objects and vulnerable human
bodies. A modern car is a computer on
wheels; an aeroplane is a computer on wings.
The arrival of the “Internet of Things” will
see computers baked into everything from
road signs and MRI scanners to prosthetics
and insulin pumps. There is little evidence
that these gadgets will be any more
trustworthy than their desktop counterparts.
Hackers have already proved that they can
take remote control of internet connected

cars and pacemakers.

18. Which one of the following statements best
reflects the most critical inference that can

be made from the passage given above ?
(a) Computers are not completely safe.

(b) Companies producing the software do

not take cyber security seriously.
(¢c) Stringent data security laws are needed.

(d) The present trend of communication
technologies will affect our lives in
future.

EKAM IAS C

Passa e - Lets Work Together, We Hard, You Sm:

A social and physical environment riddled
with poverty, inequities, unhygienic and
insanitary conditions generates the risk of
infectious diseases. Hygiene has different levels :
personal, domestic and community hygiene.
There is no doubt that personal cleanliness
brings down the rate of infectious diseases. But
the entry of the market into this domain has
created a false sense of security that gets
conditioned and reinforced by the onslaught of
advertisements. Experience in Western Europe
shows that along with personal hygiene, general
improvements in environmental conditions and
components like clean water, sanitation and food
security have brought down infant/child
death/infection rates considerably. The obsession
with hand hygiene also brings in the persisting
influence of the market on personal health,
overriding or marginalising the negative impact
on ecology and the emergence of resistant germs.

14. On the basis of the passage given above, the

following assumptions have been made :

1. People who are obsessed with personal
hygiene tend to ignore the community
hygiene.

2. Emergence of multi-drug resistant germs
can be prevented by personal cleanliness.

3. Entry of the market in the domain of
hygiene increases the risk of infectious
diseases.

4, Scientific and micro-level interventions
are not sufficient to bring down the
burden of infectious diseases.

5. It is community hygiene implemented
through public health measures that is
really effective in the battle against
infectious diseases.

Which of the above assumptions are valid ?
(a) 1and2only

(b) 3 and4only

(c) 4and5only

(d) 1,2 and 4 only

DEMY

BXC-B-GYLI (et h ¢
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15. T %oF 9 fean mn R, fms suta frsed.|18. U o wiaml o9 WX @ fdor it 3 10 km
3 frsd.11 fow o § | smuent 3w Fua Y wd e werdt 2, fR ' o arff ot gedt R
WA §Y ST HT I A R, WS & T q 3R 3
®9 A T qe B g F T vl T @ wh| IS R SR 40 km T W R, R Tw
frepsl @ W o e P ot fs| o Q
AR s Ry T wE ¥ eEER b Bl
THEE 2/, WO @ A g w9 F 1@ At S

foE @G | iy
F97 : o fafgal semd § | $v remihaf '
Fdf & | ooft pifai o 2 | (a) 20km
fepy-1: Fo FemiEr ffFa se d o § | &)’ (25%m
Frafafga d @ s adt 2 2 o
(a) “had frsps-1
(b) haa fswd-nn -
© frewt i .o a4 19. 700 ¥ 1000 T % qUrlehi 1 Geftag fpar ma
@ 7 fiswdr, 7 @ st 2| o & fea e #, sfi w1 Fmea 10
27

16. T FTcih Tig H WA @1 8 AN g g Hl 15 m ) 6
$ F=m$ ¥ firra R | ¥ 9R 5 ot g s
¥ THETd B, @ a8 [Hadl S8 B 45 S ()=t
T IS Wt & | I gdadt HE1E 50 em H ©) 8
w4 2, @ g 78 soad ? | g A 3o T

3 7, e Pt AT A @ 2 2 ok

(a) 4 .

® 5 20. T Higem I H AN 12 km et 7, R T8
EZ)) g Zféqor it 3 6 km TAT I gvET gd I AN

8 km drgdt ® | 19 yeuw fig & 97 forw fam
17. T U & U0 avimen (S8 e #) % )
=l & gfafest &1 radea fhan S @ ;
T 4 39 yfafeel i e fradt @ S e (a) Tftrorgd § 45°F HH HT |

ET%W%@@W%%? (b) WY H 45° 8 HH BT |

). i34 _ (© gfaorgd & 45° @ 3frs Hior W

EZ)) ig (d) IWYd A 45°F i BT W
BXC-B-GYLI (12-AY
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15. A Statement followed by Conclusion-I and|18. A bank employee drives 10"km towards South
Conclusion-II is given below. Y_m:! have to take feom. her Boiss : Ahd-1timas el dhit at
the Sts?.tement to be true even if it seems to be diivesanothe T 20 EirSiE aghis Geran 1ok nod
at variance from the commonly known facts. - h T il god
Read all Conclusions and then decide which of drfves 40%m, then she:turns to elr THONE 55
the given Conclusion(s) logically follows/follow drives for another 5 km. She again turns to
from the Statement, disregarding the her right and drives another 30 km to reach
commonly known facts. her bank where she works. What is the
Statement : Some cats are almirahs. Some shortest distance between her bank and her
almirahs are chairs. All b 0
: ouse ?
chairs are tables.
Conclusion-I: Certainly some almirahs are (a) 20km
tables.
Conclusion-II : Some cats may not be chairs. (b) 25km
Which one of the following is correct ?
(a) Only Conclusion-I (¢) 30km
(b)  Only Conclusion-II
(¢) Both Conclusion-I and Conclusion-II (d) 35km
(d) Neither Conclusion-I nor Conclusion-II
16. A boy plays with a ball and he drops it from a 19. Integers are listed from 700 to 1000. In how
height of 1'5 m. Every time the ball hits the many integers is the sum of the digits 10 ?
ground, it bounces back to attain a height
4/5% of the previous height. The ball does not (a) 7%
bounce further if the previous height is less M 7
than 50 cm. What is the number of times the
ball hits the ground before the ball stops () -8
bouncing ? o
(a) 4
(b), B
© 6 20. A woman runs 12 km towards her North, then
4 6 km towards her South and then 8 km
17. Images of consonants of the English alphabet SoREPal e Aok I whith dweckion s she
(Capitals) are observed in a mirror. What is from her starting point ?
the number of images of these which do not 2
look Yike thilr opiginial shaped 7 (a) An angle less than 45° South of East
(a) 13 (b)  An angle less than 45° North of East
(b) 14
(¢)  An angle more than 45° South of East
() 15
(d) 16 (d) An angle more than 45° North of East
BXC-B-GYLI (118 =A)
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uftedq - 2
Ut feare oé € o arem § A<t S areht
Fo gfdfas sl (ARemfw) gfgems

Referfeam 4 (=) svion & fore Adr

719 7T 717 aw qh=sq ) fzw Ik whesd & H9
¥ qIT FHE F IR G | F7 Fe ¥ o
HT7% IR FIT §7 IReoe] W & STIRT 87 FRT |

ufese -1

Sl 3R FeEry wa AR % 8 §
WA Al STHE wias 1w o @ R
et % & : Sharedt $ua i IeeT gwaed §
e, g e @ & fore farelt ok @
W % oy f A o e seR
afeas St % wed # $em % o # 3fy; fasreft
% i ger fufor ot wmew 6 SR &
bataey foseft 6t srafys w=ft swar sffe
Y, oot 7€ 7€, qft, I aA 9 W TG
g e fEe | g @ we s
frremrse oft €T R : wed qu o qEr HrEiwe;
Thihd WelH 3R uliges Hfifa w ==t ot
T g S F g wen % fow dw v,

g faes St § 1 W ofwRRi %
- & W guwem 3R Amy) 39w & T
@, S wg-aiwfer % for wfedreft & o s wgsait
q ol a9 W FHd ¥ | WH TG B, FO
FIPAEH HIA 3 FaHel H Ao A T
sgH % fou siwfel &1 v wg = fam &
1990 % 3 § T T 3 wferfe g
(T SreR Ufamifesh) & s W 3% o 2,
THE YA Fafas &1 wE 2 fob stfies wen
iR ARE — i A e @
®EI

3R Tl ot 2 areles vaw, W @ w=h
g wheq T FAR TE R, a9y 3 qfads A e

1 3l Ga T | 22. frfcifiga & & #an o 3w dftsag =1

TAI1eF 01T TR Teqd a1 & 2

21. Fafafes 4 & s s =g i
i (a) NN Sl G-I IR H FIH F ST

At FRorfae @39 e w2

@ WE % o ke B v wde whe SR |

5 iiﬁ;mmm (b) UYSA ¥ I9F G 9T F T W Nt
e 3 @it e srefire g 2 | § I W verl I e =i |

(¢ ¥R H Fo IR Joay wueh Har, ©
Wh NS GEH, oNNE iR
qateRvia det % oY srgee 761 2 |

(d) YRG & Foi vl H gfmar @9 dr w R siefa .
Ifd-3q@ B 3wl gz H Ve < B SE e T

21 Y= % fore € foram st =nfe |

el R st ()
¥ Wi vy g =R |

BXC-B-GYLI (14 <A
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Lets Work Together, We Hard, You Smart

Directions for the following 4 (four) items : Passage - 2
Read the following four passages and answer the There are reports” that some of the

items that follow. Your answers to these items should

HeBaici on hEgiieaes orily. antibiotics sold in the market are fed to

poultry and other livestock as growth

Passage - 1 ;
promoters. Overusing these substances can

India faces a challenging immediate future :
in energy and climate policy-making. The create superbugs, pathogens that are
‘ problems are multiple : sputtering fossil fuel resistant to multiple drugs and could be

ducti bilities; limited to :
e u'ct'.lon R [m A passed along humans. Mindful of that, some
electricity and modern cooking fuel for the

poorest; rising fuel imports in an unstable global farming companies have stopped using the

energy context; continued electricity pricing and drugs to make chickens gain weight faster.
governance challenges leading to its costly

deficits or swkltis supply; andl Bot Jéast, growing Since Denmark banned antibiotic growth

environmental contestation around land, water promoters in the 1990s, the major pork

and air. But all is not bleak: growing energy exporter says it is producing more pigs —

efficiency programmes; integrated urbanisation

and transport policy discussions; inroads to and the animals get fewer diseases.

enhancing energy access and security; and bold
renewable energy initiatives, even if not fully

conceptualised, suggest the promise of : !
: 22. Which one of the following statements best
transformation. - ;

: _ reflects the critical message conveyed by
21. Which one of the following statements best
reflects the critical message conveyed by the passage given above ?

the passage given above ?

(a) . Indinit ki Bacision-ialing process (a) People should avoid consuming the

is ever more complex and _ products of animal farming.
interconnected.
(b) India’s energy and climate policy is (b) Foods of animal origin should be

heavily tuned to sustainable

replaced with foods of plant origin.
development goals.

(¢) India’s energy and climate actions are (¢c) Using antibiotics on animals should be

not compatible with its broader social,

economic and environmental goals. banned.

(d) India’s energy decision-making process

i straighitioemand sapply-ariented’ and (d) Antibiotics should only be used to treat

ignores the demand side. diseases.

BXC-B-GYLI (B5.SAN
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uftesds - 3 ufreda - 4 '

Aifa-Fatarsti i s=-gem arem (fifen) syt fasm sdfere w1 ger ww
1 @ e h S gl el % o e o & gfg A wew g 2, Fwe s wwa
Hhi i gt 3gwn @, o $um it 3= Fid, e 3 (A § 9fg @ 2 | fagEa,
Y@ WRE-3deH 9§ e den iR @R Tedt g AAd., Im ok fRw & omEt
wart % Iced  fow fi IR WA R 1| g wweht 2 1 o feeht 2@ 3w o d afe
fer off, waifuds s Al Il W | ah 2 Rmd AW B R = B oA
rmenst @ @ v B oA A A T g ofvam, wggm ok oS o g
afes s fom R ) W W A R NI | e awgaii F e 2q 5 A F s
e T a2 16 o S A AR W | oy g wwd @n § | o P
Y @ Hehe Ic97 Bl Fehdl 2 | Tl (Saavie dfedes9) #, stEtd. @
Heequl TH W o T R AR A “onfde
5. g% s % el A, Pl ghoront| | I w1 A G A o

e 7kt v AL Hfg a R

: * I
Ly RS S O T 24. 3I9Yw ufteadg & "o #, f=fafea gdamomd

IeTeh o ¢ | gy
9. ufe fe wfess §, fva § @ gee 3= 1. wodl g8 .Ed. et qw o faefa 2w
BT 8, @ 98 W g8 rofeuaeanad § 1 % forg arfaam 2 |
B | : 2. sgdt g€ A mft o § s =
Wﬁﬁﬁq—“{:ﬁ“@ﬂm@ﬂ"ﬁimﬁé? SN Sy
39 § ¥ HH-H qEuron/gduremd o 28 2
(a) had 1 c S
(b) A 2 e 2
(¢) 13 2gH © 13 2ant
(d @ 1,TE 2 @ a1, T2
BXC-B-GYLI (16-4A)
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Passage - 3 Passage — 4 ' "okTovboieind ovsman
Policy makers and media have placed the A central - message of modern
blame for skyrocketing food prices on a variety of development economics is the importance
factors, including high fuel prices, bad weather in of income growth, by which is meant

growth in Gross Domestic Product (GDP).
In theory, rising GDP creates employment

key food producing countries, and the diversion

of land to non-food production. Increased
* : and investment opportunities. As incomes
emphasis, however, has been placed on a surge in g

iz K ¥ grow in a country where the level of GDP

demand for food from the most populous was once low, households, communities,

emerging economies. It seems highly probable and governments are increasingly able to

that mass consumption in these countries. could set aside some funds for the production of
be well poised to create a food crisis. things that make for a good life. Today
: GDP has assumed such a significant place
23. With reference to the above passage, the in the development lexicon, that if
following assumptions have been made : someone mentions “economic growth”, we
know they mean growth in GDP.
1 0il producing countries are one of the
reasons for high food prices. 24. With reference to the above passage, the

following assumptions have been made :
2.  If there is a food crisis in the world in

the near future, it will be in the 1.  Rising GDP is essential for a country to

emerging economies. be a developed country.

2. Rising GDP guarantees a reasonable
distribution of income to all households.

Which of the above assumptions is/are

valid ?

@ 15 Which of the above assumptions is/are
valid ?

() Sy (a) 1lonly

(¢) Both1land?2 (b) 2only

(d) Neither 1 nor 2 (c) Both1land?2
(d) Neither 1 nor 2

BXC-B-GYLI (1Th—=<A )
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25. WA YW P, Q, R, S, T, U 3R vV aiy-a19 &t

26.

TH 9 g9 Fe BT IE0 A B |
(a O
bl
© 3
d 6
27. ® Wfafeat o sy {i= fo w0 @ ) et
uftheR T fifvea wafa o1 sem sl & |
TCHHR 39T fAfE (2) &1 w99 IS |
7B 10A 3C
3C 9B 6A 30.
10A | 13C ?
(a) 9B
(b) 3A
(c) 3B
d 3C
28. = 4 ufteai ® < wdum Irgen ey u §
ATHA-1: (8|4 |6 15525 | 23625
IFHA-I: |5 |A|B|C| D E
ITHE-I1 % T C o w1 o wfafd 2 2
(a) 25
(b5
(¢) 9375
d) 32:8125
BXC-B-GYLI (18~A)

€ | R, Q3R T 31w Hid ¥ 3ik a1 geaahi
% ST AT VT H 8 | haw S W U T
Y& 8 3 WY gk gt § | P, R 3 S fafyy
fare & I mafem # | AR s a@ R
TR w3 & 2

(a) Q3IMR

(b) QIR U

(¢ Q3MmT

@ TIRU

s fou T i
3,2,17,4,13, 10, 21, 18, 31, 28, 43, 40 H,
Teld Y I WEl UG ¥ Fee, wal fovw gz 3k

29.

E/A

EKAM IAS ACADEMY

Th Afh X, WM A 8 a91 Th 34 oA Y,
WB@@&MW@@#WW
Y H § | GH TAH F AT A gl 15 km
2 | X, 1'5 km/hr ¥ UHETH 91 ¥ ol §
3R Y 98 W2 # 1 km/hr I THEHH A1 9,
T e H 125 knvhr Y THEHH T @ qo
dat 2 | 1-5 km/hr ) THEEE I @ TerdT
7 3R 3t TR I Y=o S wEar

frafafeaa & & Sha/@98 ad 2/3 2

1. 3 3Hi &I e 8§ 592 &1 wn i |
2. 9 qH AT BEHI & el e |
i faw T e # Em =W ad s ghn -
(a) 9 1

(b) I 2

(¢) 13 22t

d TA1L,IE2

s forneff when & 6 - # Y51 B | IR&H
TH-91 % fou sifteran 3t wHEwH € | @
Y-GS H 3Hh W 5:6:7:8:9:10 %
FUE | § | T e 38 60% IF® W
fpu | 3E e ywwEl # srfresan st *
60% ¥ W 3% Ied fehy 2

(a) 2
(b) 3
(c). 4
d 5
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Lets Work Together, We Hard, You Smart

25. Seven books P, Q, R, S, T, U and V are placed |99, A person X from a place A and another person
side by side. R, Q and T have blue covers and Y fro Thiis Pikat out it Sk time to
other books have red covers. Only S and U are 03 8. PINCO T o ONE T WRNIY
new books and the rest are old. P, R and S are walk towards each other. The places are
law reports; the rest are Gazetteers. Books of separated by a distance of 15 km.
old Gazetteers with blue covers are Xivilh vl & nileon sposd ot S kaile
(@) QandR and Y walks with a uniform speed of 1 km/hr
(b) QandU in the first hour, with a uniform speed of
() QandT 1-25 km/hr in the second hour and with a
(d TandU uniform speed of 1-5 km/hr in the third hour

26. Replace the incorrect term by the correct term and so on.
in the given sequence

3,2,17, 4,18, 10, 21, 18, 31, 28, 43, 40 Which of the following is/are correct ?
where odd terms and even terms follow the
same pattern. 1.  They take 5 hours to meet.
(a). - O :
®) 1 2.  They meet midway between A and B.
E;)) g Select the correct answer using the code given
below :

27. Following is a matrix of certain entries. The
entries follow a certain trend row-wise. Choose (a) 1lonly
the missing entry (?) accordingly.

(b) 2only

7B 10A 3C A

3C 9B 6A (&) R

10A 13C ? (d) Neither 1 nor 2
(a) 9B
(b) 3A
(¢ 3B
d 3C 30. A student appeared in 6 papers. The

: . : maximum marks are the same for each paper.
28. You are given two identical sequences in two His marks in these papers are in the
TOwsS :
proportion of 5 : 6 : 7 : 8 : 9 : 10. Overall he
Sequence-I: | 8 | 4 | 6 | 15 | 52-5 | 23625 scored 60%. In how many number of papers
Sequence-II:| 5| A|B| C | D E did he score less than 60% of the maximum
What is the entry in the place of C for the marks ?
Sequence-II ? (@ 2
(a): 25 .
(b) 5 5
(© 9375 () 4
(d) 32-8125 td)eet
BXC-B-GYLI (19.<A)
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#7 e 7 ar gh=de # wlkw sk s & A9 7 it 2 f5 wome, 3g, o ffy
3R T FEArI ¥ I oy | g7 g & forg| () H SRS AU IgEA Hl TS hl
ST I AT 37 TS W & menhg g wnfew )| SRl W3 T wer 91 wwhat, fya
3u e (Sifufem) & gt feafa wo
ufess - 1 Fifh, T TG &9 § TEREHA F forg
I9YH el A 7, g I AT  fog
AU uifis dweEl % wey #§, af IR SR T AR | 36 AR, AT §
e S 1 A o AThe W % T i wvE we @uE g9 § s Al
%81 S, @ o % w9 W B W@ T A f@?gﬁ@fﬁé,ﬁwﬁ@ﬁ
FATacY) #, gE TPHSA H e
T W g AT WY T | e g, A R e e
AEHFCE, WM F AW AT | 3 o 3 o 3 g v w9 @ 7 A
anft St &l B, o gafo el % wed A, wyof foran R, 3R 7 € od-Rrem w5 Tt fafty wmé
forva ot B o wqf fowa e B 1 % ot wife, a8 Tgiew % w9 o
JferepR ! dEa o9 § fawa @i 2 |

32, 30w uf=ade & R W, fFafafea d @

31. 39w U8 % IMUR W, FINIF THaTd i : e

gefamon A 8w R 2 farpretT S e & 2
@ W h s B o W T o) v s § o, 3g o RR S
s W far e s=da T8 W= 3guA e # |
gehal | (b) et stftos & wsfi wwensti & o
& v e W a2 B A s S SN
uTfifeh FIER T TER |
(c) o8 AT Fad & Al Tehdl & «igd &
(c) urftfes duerl § 7y 1 har i v fou wmm s ? I e um
w0 i wgf A 2 | gAviehar (e fafesmm) % fog fafu
Wi A

(@ @ H9A yiffes HueE I @ gHEd e e

g e

BXC-B-GYLI (20-A)
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Lets Work Together, We Hard, You Smart

Directions for the following 4 (four) items :

Read the following four passages and answer the It is certain, that seditions, wars, and
items that follow. Your answers to these items should contempt or breach of the laws are not so much
be basg S 8 passages only, to be imputed to the wickedness of the subjects,
as to the bad state of a dominion. For men are

Passage - 1 not born fit for citizenship, but must be made so.

Besides, men’s natural passions are everywhere
With respect to what are -called
the same; and if wickedness more prevails, and

denominations of religion, if everyone is left
: more offences are committed in one

to be a judge of his own religion, there is no
b oy & commonwealth than in another, it is certain

such thing as religion:that, s wrong; but:if that the former has neither enough pursued the

they are to be a judge of each other’s end of unity, nor framed its laws with sufficient

religion, there is no such thing as a religion forethought; and that, therefore, it has failed in

that is right, and therefore all the world is making quite good its right as a commonwealth.
right or all the world is wrong in the

matter of religion.
32. Which among the following is the most

logical and rational inference that can be

de from th ivel ?
31. What is the most logical assumption that TRACK i e DUESIES SCRiEITA

can be made from the passage given above ? (a) Seditions, wars and breach of the laws

: J ; are inevitable in every dominion.
(a) No man can live without adhering to

some religious denomination. (b) It is not the people, but the sovereign

who is responsible for all the problems of

is the duty of to
(b) It is the duty of everyone propagate Kapdiminion.

one’s religious denomination.
(¢) That dominion is the best which pursues

(c) Religious denominations tend to ignore the aim of unity and has laws for good

the unity of man.

citizenship.
(d Men do not understand their own (d) It is impossible for men to establish a
religious denomination. good dominion.

BXC-B-GYLI (- ha
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ufeae - 3

JEAEAT T A Albdis AfquHS H
IguA wdt & 7% woft amifte wom € | wwear 97
ey 8, S FOB Youd faowarell & Tew #
=t & e Bdt 2, @ 3 am= w9 @ gmEn
Hd & | Afcewar #i g ¥ F7 9@ FHEG & =@
fuifa faga 2 | sufoq wonfa, ifa, fom,
Gardigar, Fswhar, a1 o 9 YRl W SRR %
st Sgura & T S =nfee | A feafa 6
3 fquvard Ao gfe & wma 78 & | 98 fomm &
fhal % Y FHEES Fer fhar ST =fe,
T had 3@ HRU F o 3 & FOF AfEAr b I
F© FErY fPivand sigan gfewn gt 8, 34, g
¥ F9% Afw pua feee Raendl, wfawmmedt
Tiffqesr, I foema wifesr @d 8, afcw
gafere ot fob & @it 797 €, o sm=Elg-HAifa &
3 &9 TR |

33. 39w ufteae & wed #, fr=fafed qdamomd
TR

1. ggHar, @ % fau e % sgfaw
gl § ATCAfIvETd % |WIY W o4 6
T qaTaeE € |

2. ITEUFEGT 1 BHT dlehdd o Afeded & foig
BT 2 |

3. wft iRt % gWE B9 @ faEw R,
58 fedt A § off aqa & saif<a
T P ST ahar 2 |

4. GAAAT & AMHR H TR FoAi N
Ravfafen f uoifes vegae § wmfas
fora ST =fRT |

ST # | HH-H gharemd 51 § 2

(a) Hae 13 2

(b) Hae 23R 3

(c) “hael 134

(d) e 334

BXC-B-GYLI

aaaaaaaaaaaaaaaaaaaaaaaaaaaaa

ufesT - 4

AT wET WE H 39 T A
et &9 @ g e fome w=oaa g,
| qrr 4 T Hifta gt 8; Sreuddia wmed
ATcehiieres €9 Wiftd & e srEmaariges gud
= B foE Far & | T8t 9 T, sead
% rfoies & dhaa off T i foe war 2 |
39! end fagia a8 2 f% 9 9w sE ek
o fifa fFufor w60 &1 qen g9E AR
2 | 99w gfe §, 9% UH gEg 9w §; fhg I
fammeprt s wmar 2, if o wgfea w9 @
forféra 78 2 & fop 3 ITm wERl IR waifuw
faaeryqul amt &1 == X Tk | A A wwe T
Bt & 3R I Haa & R & A IR WEHF
3% el TG A & | UHT drhad, W
T I WS wEH 2 g | — =

34. fr=fafea # & s s 3w af=sg &

Td @& @ataw &9 @ AT 2 ?

(a) WHE guS WA & - w9 % oy
TN A # |

b) 9 goa faga & fdts F wrw
wEq & et oft ®9 @1 ey @ S
21

() @ft qrifnt <t foem & qof, srfass ik
YToff Siehas st gfeera st ? |

(d) WA ®1 A TH ufEd §UE R,
wifs wmEa % wft w9 § R
Fafifed Bt ? |

(22-A)
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Passage - 3

Inequality violates a basic democratic norm :
the equal standing of citizens. Equality is a
relation that obtains between persons in respect
of some fundamental characteristic that they
share in common. Equality is, morally speaking,
a default principle. Therefore, persons should not
be discriminated on grounds such as race, caste,
gender, ethnicity, disability, or class. These
of human condition are morally
idea that one should treat

persons with respect not only because some of

features

irrelevant. The

these persons possess some special features or
talent, for example skilled cricketers, gifted
musicians, or literary giants, but because persons
are human beings, is by now part of

commonsense morality.

33. With reference to the above passage, the

following assumptions have been made :

1.  Equality is a prerequisite for people to
participate in the multiple transactions
of society from a position of confidence.

2. Occurrence of inequality is detrimental
to the survival of democracy.

3.  Equal standing of all citizens is an idea
that cannot actually be realised even in
a democracy.

4.  Right to equality should be incorporated
into our values and day-to-day political
vocabulary.

Which of the above assumptions are valid ?
(a) 1andZ2only
(b) 2and 3 only
(¢) 1and4only
(d) 3and4only

BXC-B-GYLI
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Lets Work Together, We Hard, You Smart

Aristocratic government ruins itself by
limiting too narrowly the circle within which
power is confined; oligarchic government ruins
itself by the

immediate wealth. But even democracy ruins

incautious scramble for
itself by excess of democracy. Its basic
principle is the equal right of all to hold office
and determine public policy. This is, at first
glance, a delightful arrangement; it becomes
disastrous because the people are not properly
equipped by education to select the best rulers
and the wisest courses. The people have no
understanding and only repeat what their
rulers are pleased to tell them. Such a

democracy is tyranny or autocracy. — Plato

34. Which one of the following statements best

reflects the crux of the passage given above ?

(a) Human societies experiment with

different forms of governments.

(b) Any form of government tends to
deteriorate by excess of its basic

principle.

(c) _Education of all citizens ensures a
functional and

democracy.

perfect, sustainable

(d) Having a government is a necessary evil
because tyranny is inherent in any form

of government.
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35.

36.

37.

BXC-B-GYLI

120 =aferal % &g #, 80 WK™ & R IN
foesht 8 | sa sifafees, @ @R # 70 =5
ST S Hhd & | W WRATE! Y we e
B S TS ST Thd & 2

(a) 20

(b) 30
(c) 3031 I9H HH

(@ 3031 3I5H AlF

T JR@ (AA-S) TR F A
ggfa & o) @@ w3 3Rl
geTe W fmm e st 3 %
TH fife s @emeEt w1 ded S
Frafafea & & F-ar/#9-48 w8 2/8 2

1. SHE 748 ST § |

2. STEFIAWSTR |

= fou T Fe w1 F@ =W ad I g
(a) had 1

(b) Had 2

(¢) 13 23Ht

(@ dM1,T82

3 wanal A 3R B # wuw: 25 3R 30 faeneff

2 | waA ¥ srfteran wrais 21 § 991 =Ea

Iedieh 17 8 | H&1-B H Hfteran yrdie 30 B

AT AAH WA 22 B | FELA § 4 foremeff

HHT-B | TMIaid fpy o € |

frfafiga wuai w famm Hifse

1. ®§.B & 3NEd yais fAfea &9 @
T |

2. HUL-A & MNFd Uraie [Afa &9 @
QT

39w weHl #§ | PET/HA gd /8 2

(a) Had 1

(b) e 2

(¢ 13K 23

@@ AM1L,TI& 2

(7Rt
aredt
UUE]

ol 8

EZA

a4

EKAM IAS ACADEMY
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38. T HYAI 3N Th Y W famm Hifdw -

39.

40.

(241/AY

Fo7-1: T, dm | 4 =E 9 ? ok gew

e mmasid e we |
FYT-2: T, 1 ¥ 2 TWH FW & IR TG
A Om A 3@ A W e |
yo7: 40 fqenfda & wan o, i o @

a1 &1 BT TH R 2

FAl MR g F wed #, fafafes § @
HH-G1 TE B 2
(a) %ﬁgrméﬁ%%qﬁﬁawam

(b) ggrméﬁ%%qaﬁaw-zm
(¢) 9 I I 4 & fow o1 & *haet H9A-1
T hadl HYA-2 T 2
99 T IW 24 & foIU HeH-1 3R FI4-2
ST s AETTRAT B
g Sl 3R Tk g W fomm Hifse .
FY71: AR DAY IS, B, E MM F A
% & nfiss wilt B, fohg o &+
ft ged a1 wilt 78 B |
FYF-2 : g,Dﬁaﬁ%m%,ﬁ@Cﬁm
:
A, B,

C, D 3 E # g=d fe vt
HHR?

o o W ¥ wed #, PrafRes # @
HH-AT EE R ?
(a) T3 1 I ¢4 o0 Haet H99-1 q7i

?
9 1 I A & U Fad H94-2 @i

(¢) U9 Wl I &1 & forw Ho-1 3k +ya-2
QT T TR B

9 1 I o4 @ fore 7 ) Haw weH-1, 7
HEERE LR

(d)

b :
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Lets Work Together, We Hard, You Smart

85. In a group of 120 persons, 80 are Indians and |38, Consider two Statements and a Question :
rest are foreigners. Further, 70 persons in the Statement-1: Priya is 4 ranks below Seema
group can speak English. The number of and is 315! from the bottom.
Indians who can speak English is Statement-2 : Ena is 2 ranks above Seema
(a) 20 and is 37" from the bottom.
(b) 380 Question :  What is Seema’s rank from the
i ?
© - 30orless top in thef cla.ss of 40 st-udents 7
Which one of the following is correct in respect
) " 1200w more of the Statements and the Question ?
2 oL : (a) Statement-1 alone is not sufficient to
86. Consider all 3-digit numbers (without answer the Question
repetition of digits) obtained using three (b) Statement-2 alone is not sufficient to
non-zero digits which are multiples of 3. Let S answer the Question
be their sum. (¢) Either Statement-1 alone or
Which of the following is/are correct ? Statement-2 alone is sufficient to
1 8 is alwavs divisible bulld answer the Question
3 %S 2 i 1 s (d) Both Statement-1 and Statement-2 are
2.  Sis always divisible by 9. required to answer the Question
Select the correct answer using the code given |39 Consider two Statements and a Question :
below : Statement-1: Each of A and D is heavier than
(a) 1only each of B, E and F, but none of
them is the heaviest.
s Statement-2: A is heavier than D, but is
(¢) Bothland?2 lighter than C.
(d Neither 1 nor 2 Question: ~ Who is the heaviest among
A,B,C,DandE?
87. There are two Classes A and B having 25 and Vghich one of the following is cor‘rect?in respect
30 students respectively. In Class-A the of the Statements and the Ql.}estmn 8
; . 3 (a) Statement-1 alone is sufficient to
highest score is 21 and lowest score is 17. In anmirae the- Otliion
Class-B the highest score is 30 and lowest (b) - Statement:2. alone  is Bufficient o
score is 22. Four students are shifted from answer the Question
Class-A to Class-B. (¢) Both Statement-1 and Statement-2 are
Consider the following statements : : required to answer the Question
P (d) Neither Statement-1 alone nor
A -average score ~of . Class-B  will Statement-2 alone is sufficient to
definitely decrease. answer the Question
2. The average score of Class-A will|40. In the English alphabet, the first 4 letters are
definitely increase. written in opposite order; and the next
: ; 4 letters are written in opposite order and so
Which of the above statements is/are on; and at the end Y and Z are interchanged.
correct ? Which will be the fourth letter to the right of
(a) 1lonly the 13t Jetter ?
(b) 2 only (a) LN
W) il
(¢) Both1land2 oy 3
(d) Neither 1 nor 2 @ I
BXC-B-GYLI (SAMACADE!
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Ferferte 4 (am) swion 3 forg g '

74 e 17 wr WS ) uiRe Ik vieee & H9
31 dret FE F IR H | 57 gwA F fow
319% I FIT 57 TR=sel W & Senha &7 TRy |

fese - 1

Aafiich T # T Fo st foreme A @
war, Rl o wenfs @ srest @ qu Ha
ST |, Fifh Todeh =Afts W Jafits U #
A R, 98 Had A & AN B S @ 2,
3R AT TEE F IEER qUT T& 9 B I
A ATH H FEY 7, =D I R FH 0T Fr
2, ol W = feelt ot fafy (@) & oiata
o fyar o fenelt & wfa seerht 78 W
2; 3R gafere, Jafifs o= # sy & weg
T h 1 Fhdl, haw fdd s A @ @
W9 B, WE HWI WEAld @ oS A1 R
favly feram sman 2, o % saf wd i TS
¥ R Sercer w2 |

41, Frafafea & & S99 Fom swfw afesg &
T faeim &1 @ataw &7 & Z9ar & 2
(a) T HE AT TG B — F IEUROTE T $
Fomfor 3 mor srferea § & |
FI HE A AT B — 39 IR H 9§ %
HI$ wEs Tt ok T& dar, 8 ot
=afes Afoe w9 A T 7E 2 g |
i T # =fe wwfes w0 @
e 3R w@neff gt & |
w1 FE A T & — I8 R wee wfy
1 Iateiifaar & fore s 2 |

(b)

(c)

(d)

BXC-B-GYLI

(26~
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aaaaaaaaaaaaaaaaaaaa , You Smart

afess - 2

IEE wfosy #, wm %3 9 sefifeat —
Fom gfg (anféfefirm RfcE) © Jeckem
(Usifew), 3D fafmivr, wmesi i win & sER
fafifa ek wd sitwef seardl, waes wefer vt
Td STefeht{ed RISl GGl T0Tehl (HHITERRRe)
& | 3 faee gueTd I Bl | 3w A S
R 9¥: fo=m o mn @ % aeeted &1 g 1
AR A gl (Saiet) @ CEet ARY U
AEHH Th I GSH R I AloUed & & o9
4 fofr 3 St | sEE I A R, we —
HHI-SfaA @t s=HT, 3R Sfea oft | fray 101 ©@
H B! Y1 AMRC — 1 el 39 Fam 1 7 q73
I TEIfad B SER W oA 3T e 2 IR
IrcRiied $R Safe | grft, @ Fofy & e 2
g ol emefwr awr wuft, o1 et §
WS HR H G Fo@s HUT, I R Eerere &
HiNg 97 TR ST wum, R SR # smem
Fr "o w2 2 A fefe ol St §
UHE-Sed i STEfed o 6 ar § e g
fam (wrga fie) &, @ 27 wwd (gedvee)
fofat wfea fimr wa Faw e foki = fee @@
guifera s 2

42. gm%mm,ﬂmﬁf@aﬁﬁ
wo_ fadwy, Td STEEIRE
Rfgaret &t dgav avrfa & 2
1. s dvdfiew frdt oft 3w ¥ waiaw
Radadid |
2. omyfye drenfiferat snffe dimedt #r a0t
g faer @
3. TEER I Gt 7 T % g W
Jfaseror T foram 2 |

sEerait ( ) & fom |
Higa g1 =R |
5. WISHId W HE  FEgEaell iR
% srffeadarstt =1 st s g |
féw ¢ e =1y W TE W :
(a) mgaﬂts o
(b) had 1,2,3 3 4

(c) ohad 2,3 3N 5
@ 1,2,8 435

A)
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Directions for the following 4 (four) items :

Read the following four passages and answer the
items that follow. Your answers to these items should

be based on the passages only.

Passage - 1

Nothing can exist in a natural state which
can be called good or bad by common assent,
since every man who is in a natural state
consults only his own advantage, and determines
what is good or bad according to his own fancy
and insofar as he has regard for his own
advantage alone, and holds himself responsible
to no one save himself by any law; and therefore
sin cannot be conceived in a natural state, but
only in a civil state, which is decreed by common
consent what is good or bad, and each one holds
himself responsible to the state.

e

EKAM IAS ACADEMY

Passage — 31 o et o s

In the immediate future, we will see the
increasing commodification
technologies — artificial intelligence and robotics,
3D manufacturing, custom made biological and
lethal
weapons and driverless cars. This will pose

of many new

pharmaceutical products, autonomous

conundrums. The moral question of how a
driverless car will decide between hitting a
jaywalker and swerving and damaging the car has
often been debated. The answer is both simple —
save the human life — and complex. At which
angle should the car swerve — just enough to save
the jaywalker or more than enough ? If the
driverless car is in Dublin, who would take the
decision ? The Irish Government, or the car’s
original code writer in California, or a software
programmer in Hyderabad to whom maintenance
is outsourced ? If different national jurisdictions
have different fine print on prioritising a human
life, how will it affect insurance and investment
decisions, including transnational ones ?

42. Which of the following statements best reflect
41. Which one of the following statements best the .rat;fmal, Plaweibic and proetmnl
: implications that can be derived from the
reflects the central idea of the passage :
) z passage given above ?
given above ? 1.  Too much globalization is not in the best
(a) The conceptions of what is right or interests of any country.
g : 2 Modern technologies are increasingly
wrong exist due to the formation of a blurring the economic borders.
state. 3. Innovation and capital have impinged
: s . on the domain of the State.

(b) Unless a ruling authority decides as to 4 Public polity “of levery eotmtry should
what is right or wrong, no man would be focus on developing its own supply
morally right S

: 5.  Geopolitics will have to reconcile to

(¢) Man is inherently immoral and selfish many ambiguities and uncertainties.

Tk hataral atabs Select the correct answer using the code given
i below :
(d) The idea of what is right or wrong is (a) 1,4 and5 only
necessary for the survival of human (b) 1,2,3and4 only
: (c) 2,3 and 5 only
5 (d 1,2,3,4and5
BXC-B-GYLI (A S AN (
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ufede - 3

fearen ok wem stemar d@fgar (H) F
AR ARA Sl & feanfern amel w1 wHaE
fpar ST, @ 98 oSl gRwufy (wodie,) feufy
w F Himr 7 FEba w0 4 ggEs 8 g @ |
Tg Hut fafYy st gro fop s ot wwmamEl
$ ifa ofidft B9 & e, T8 dfgar qe o
# o afgdi & Mita (FefiT 39) FQ § wews &
Tl 8 | TEWh & % bl 1 G Goiierror oft
Stebi < ST 4ot (Hfiest FoM) Hi Tgr 3 37
fres o 3 iR enfdfes nifafafey =6 we@n 24 &
foe Ifa # § weEs @ wha § | fohg, i
F3 B FEYH R G ESfiehr, 39 gHIYE H1 Th
I & 8, Hife 9 39 AfEhE o B A A
qgd FH & TEEH B dhd 7, o awd St
Ut i 3Tl FAHM SIHIT IEET § A1 @al
fpa 8 | 9 ap Syl wor i wEen F gy
% fore yorefima gum 7@ fhe s 8§, 99 q% e
HUL-Esh SRt YUt W gaTE Serd @ |

43. 3T ufedg & IFER, Fr=fafea s 4 @

SN @aAlfaE awara, faEasgel e

TG AT Hi FgAT T 2 2

(a) dh g o 9@ a =mor w1 A
sigdfter (wifieR) oft wem faftame &g
GTHT ! HET 17T |

= it g @t et =nfee, fed fe
afess o 31, For gfg A TeariEa FE
3R zme Wi anfles nfafafy 1 sgm@n
3 % fou St =t e fean 5w |
F5 Sl P FS IS dbi H e HET A
SRl B AHEH TH IR IFTH @S
frsare =t Tepa o1 Seleprfors gweE 2 |
AMeT FwOr hl GHEN * Ao
goYE % ®9 §, YRdE Sfer goreft §
GTEATCHS GUR a9 8 |

(b)

(c)

(d)

BXC-B-GYLI

S N ——
A ﬁKﬁM IAS ACADEMY
B Lets Work Together, We Hard, You Smart

ra 4, @ufy anfdes fify &1 sewa <t
% i Feam H seET R, R e wwly
e fifa 6t et ot s (), @iz &
a1 THINE, gE ITET % |shy wHeda % e,
Edd ®9 ° T TE B Tt |

44. Frafafea & & a1 o, SEw of=se &
39-Frgia &t aga¥ Foar 2 2

(a) held Sh TLHR U WaT a1 SR T8

Hehdl |

b TWHR H oy ol iR gered @
g fafemm s = few |

(¢) WI9R Adegarer TR H  GHSETRE!
el % w7 2 |

(d) <M % onfde weamwr H WeW F o
foretar & o guw srmevas € |

(28-A)
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Passage - 3

The resolution of bankruptcy cases of Indian
banks under the Insolvency and Bankruptcy
Code should help bring non-performing assets
(NPA) situation under some control. Despite the
slow pace of resolutions by the National
Company Law Tribunal, the Code can be helpful
in cleaning up bank books in future credit cycles.
The recapitalisation of public sector banks too
can help increase the capital cushion of banks
and induce them to lend more and boost
economic activity. But bad debt resolution and
recapitalisation are only a part of the solution as
they, by themselves, can do very little to rein in
reckless lending that has pushed the Indian
banking system to its current sorry state. Unless

e

EKAM IAS ACADEMY

Lets Work Together, We Hard, You Smart

Passage - 4

In India, the objective of macroeconomic
policy is to enhance the economic welfare of
the people, and any one wing of such macro
policy, monetary or fiscal, cannot
independently work without active support of

another.

; 44. Which one of the following statements best
there are systemic reforms that address the
problem of unsustainable lending, future credit reflects the corollary to the passage given
cycles will continue to stress the banking system.
above ?
43. Which one of the following statements best .
reflects the most logical, rational and (a) The central bank cannot work
tical tio implied by th
B : S ¥ e independently of the Government.
passage given above ?
(a) Lending by the banks should be closely
monitored and regulated by the Central (b) Government should regulate financial
Government. :
markets and institutions closely.
(b) Interest rates should be kept low so as to
induce banks to lend more, promote
credit growth and thereby boost (¢) Market economy is not compatible with
economic activity.
the socialist policies of the Government.
(¢)  Merger of many banks into a few large
banks alone is the long-term solution to
make them viable and prevent their bad (d) Financial sector reforms are required for
performance.
enhancing the economic welfare of the
(d) Indian banking system requires
structural reforms as a long-term people.
solution for bad loans problem.
BXC-B-GYLI 422AS)ACA
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45.

46.

47.

BXC-B-GYLI

Frafafga aroft w fomm $ifsw .
Reergia sTe Tu(H Wl 78 (§ s T weft T
tc| e @ g

A 61 99 14 76
B 05 12 50 85
C 15 7153 20 50
D 13 55 12 50
39 3 A9 H, g9 a9 W S a1l HH 8 ?
@) A

by B

() Jds G

@ D

TH UM H Y UHATHEl % 94 W B | 15
TeTEt g & @t B & | 1/3 ATHETE "Ig’
2| 45 UwETiE Y g 25 99 H HH B |
frfafad sl § @ w9 fifa s @ @
2?2 '
(a) ﬁégﬁw@mmﬁ,ﬁ#wmﬁ
WE |
§5aé§wa=rrga1€1‘3ﬁ5maﬁﬁmm
|
:%a%mﬁumaﬁﬁ'mm’éa‘rmﬁ@ﬁ
l
95 o @ ®u 7Y a1 foreft oft yrwaTEht
9T 391 SR T 8 |

3l HYAT IR TH g9 W fomm Hifs -

Fo7-1 ; Tt wreg o oifcw fo7 gaam 2 |

W-z;gamgwq?ﬁuwﬁanmlﬁﬁq
|

Y97: 39 HIE % 149 e FH-AT AR B 2

HUE N g\ F "oy #, Frafafea # |

HH-ET TE B 2

(a) gﬂwwéﬁ%m%ﬁaw-lm

(b) gﬂmm%ﬁ%%ﬁ%ﬁawam

Y99 &1 I 24 & foIT FUa-1 3 FUA-2

21 I IETIHAT B

Y9 &1 I 24 o forw 7 @ et weE-1, |

Bl hael HUA-2 I B

(b)

(c)

(d)

(c)

(d)

48,

49.

50.

(302A )

é\@&,

EKAM IAS ACADEMY
10 SRR, 2027 MAT ALAM?
(a) UeEm
(b) HHER
(c). HITear
@ wfEr

fa ey e @ Wl et =R fshst w fEmw
HfT | SR | FAE H TE A g T
1 IW R, WA & F AW FY F F1q aLA
1 3t & wra wfta T & | wef et w5 ag
3R qoqvema favlg w6 s /ana feed
fou U HeEl % IHER dhET B/E, v @ I
AT &9 W T 9 H g A T A A
Fo R At € |

FS Hid FA & |

HYH-1 :
HYT-2 :

fssy-1
f5ry-2 ;

FSR P E |
1 off 70 Hren TE R |
Aepy-3: aft &t e |
fews4: it we ' E |

frafafga § & s ad 2 2
aet fed-1 3R fread.-2
Fae fe-2 3R frewe-3
haa fsad-3 3R fshd-4
Faifepd, adte, ad 3, adt4

(a)
(b)
(c)
(d)

JTHA 2, 7, 22, 67, 202, X, 1822 H X’ & UM
CRIR

(a) 603
(b) 605

(c) 607

(d) 608
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Lets Work Together, We Hard, You Smart

45. Consider the following Table : 48. Which day is 10*" October, 2027 ?
Runs Ballf? Runs. Ballls faced (a) Sunday
Pl scored in| faced in | scored in | in the

8YeT| the First|the First(the Second| Second (b) Monday
Innings | Innings | Innings | Innings | ©)" " Tassday

A 61 99 14 76

B 05 12 50 85 {d) Saturday

C 15 75 20 50

D 13 55 12 50

BhA i e fachaat mit GEARGE. B Ehe - Test 49, Consider two  Statements and four

Match ? Conclusions given below. You have to take the

(@) A Statements to be true even if they seem to be

E::)) g at variance from the commonly known facts.

@ D Read all Conclusions and then decide which of
46. Half of the villagers of a certain village have the given Conclusion(s) logically follows/follow

their own houses. One-fifth of the villagers from the Statements, disregarding the

cultivate paddy. One-third of the villagers are

literate. Four-fifth of the villagers are under commonly known facts.

25 years of age. Which one of the following Statement-1: Some greens are blues.

statements is certainly correct ?
(a) All the villagers who have their own

Statement-2 : Some blues are blacks.

houses are literate. Conclusion-1: Some greens are blacks.
(b) lS;gemet\;illagers under 25 years of age are Conclusion-2 : No green is black.
rate. ;
(©) ' Only half of the villagers who cultivate Conclusion-3 : All greens are blacks.
paddy are literate. Conclusion-4 : All blacks are greens.
(d) No villager under 25 years of age has his
own house. Which one of the following is correct ?
47. Consider two Statements and a Question : (a) Conclusion-1 and Conclusion-2 only
Statement-1 : The last day of the month is a i :
' Wednesday. (b)  Conclusion-2 and Conclusion-3 only
Statement-2 : The g:ird Sat“t:gagh"; the month (¢) Conclusion-3 and Conclusion-4 only
was the seventeenth day.
Question :  What day is the fourteenth of the (d) Neither Conclusion 1 nor 2 nor 3 nor 4

given month ?
Which one of the following is correct in respect

of the Statements and the Question ?

(@) Skakaeb T - aliae i watBeient o 50. What is the value of X’ in the sequence

answer the Question 2,7, 22,67,202, X 18227
(b) Statement-2 alone 1is sufficient to
answer the Question (a) 603

(¢) Both Statement-1 and Statement-2 are

required to answer the Question LR
(d) Neither Statement-1 alone  nor (¢ 607
Statement-2 alone 1is sufficient to :
answer the Question (d) 608
BXC-B-GYLI (31=A)
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Rwferera 2 (1) setert & forg fagr :

79 i 717 3 9R=Sql @ lew ek gR=Sd & A9
3 T FHE & I P | 57 g F o
HTF IW Fad 3 GR=Be W & mgRa &7

13T /
ufese - 1 _
FTaS MR W.3ME. A, I watow favafamem,
36 GE-EE (IAF) W A § HO Iehw
HeARl K glaer F F awenE, “fRm s
(Flipped classroom) 9T€9 I Al F 9T ® %, &l

FS W WY FA B, Gi’tﬁarf@fzﬁaﬁmu?ﬂﬁ
2 3R 3% W I9q e @ s/ wa § W
grEfies 8 | 39 favafermeEt 3 sa e =memEt
W Q fovd § weeh forg Foges vorew T @ 1 3
%wﬁmaﬁaﬂtﬁwﬁamﬁﬁsq

fafafea & & F9-a o9 Swf whese &
HT faar &1 @aiow &9 & F9ar & 2

(a) YRGS ugfd 1 g o wenm feor
guifd s A amamtrrg.ﬁ?f
farvafaremet & ewar S8 anft |

fovaaeg 4 18 Fh e fomn s=ran e
wﬁmﬁaﬂtwmﬁwmm
|

7 I=r fien @ geft smarfes g
iftrep fAas A it ravgeRar 7@ 8 3k
a9 oft, ¥ JgR A R TmEfoes gt
ﬁmﬁamm’él

IR foen # foft &9 & seuEl %
FIY-A1Y hifenT SEAE 30 JGE HT AN

51.

(b)

(c)

(d)

O T & 3 BA-Be Thd & |

BXC-B-GYLI

(32~

EKAM IAS ACADEMY

ufess - 2

TAR TR, FEEAT & ARFh Hhgur 3R
AW IRk HEAERN % SR
ey aRad & ufa st gue € | sEe
Hfafteh, I STHEE 9 9 @ B, fohg g
ey g o TuTE & e % fog e
T IS yumelt foefaa € 1 2 | HA G F°,
TR TR 1 ACH 65% 2, fohg S8 Sar
HETIHATHAT Hl QU HA » fou wafe gleemd
T8 & | ag A T, e, afe, & deftm
TS W IH ¢ Heeaqul 7, S % dunfa
THYH Ged % [T rmawas € | ' AR
AT S % HE A AR w afffad w@
1 ravIHdl 8 3R U@ yiifeafas dF &1 gor
FET A A ART T SATETIHRATSA Bl T
T |

' 52. 39YH UR=SE $ YR W ieurfeq, Fr=fafeaa

¥ wHE gaifle adara s fAawge
fAwry B Gehdl & 2

(a) TR TR § @i @R & @Y geg
TEfeh SHEEAT T BT EEF 2 |
@ sg@ gan SHEEn WA, duRefig
o 7 % AR T § 1Y # |
TR TR % waEE 9N fwm %
B Synofiyar Hedi g8 w6
SAEIIHAT 2 |

qRa S MU e 3R Gyrefiaar
gl woeme ¥ v fem #
gEse- et wrfied ugfd  sqasd
Sufaf guym 2 |

(b)

(c)

(d)

A)
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Lets Work Together, We Hard, You Smart

Directions for the following 2 (two) items : Passage - 2

Read the following two passages and answer the
items that follow. Your answers to these items should
be based on the passages only.

Qur cities are extremely wvulnerable to
climate change because of large concentrations of

populations and poor infrastructure. Moreover,
Passage - 1

The best universities like Harvard and MIT,
despite having the luxury of having some truly
excellent teachers on their payroll, are
increasingly embracing the “flipped classroom” 65 per cent of the GDP, but there are not enough
format, where students listen to video lectures at
home, and spend class time applying their E:
knowledge, solving problems, discussing important to address the issues of air quality,
examples, etc. Professors guide that discussion transport, etc., that are vital to identifying
and fill in wherever necessary, explaining those
bits that seem to be eluding the students and
throwing in advanced ideas that happen to be | in city planning and create an ecosystem that
topical. These universities have made their video | 1 cots the needs of the people.
lectures available free for anyone in the world.
They are also encouraging colleges and
universities all over the world to integrate these
online courses into their own pedagogy, picking
the pieces that are appropriate for their needs
and building a package around them. logical and rational inference that can be

made from the passage given above ?

population densities are increasing in them but
we have not yet developed the systems to address

climate change impacts. Our cities contribute to

facilities to cater to the needs of the people. It is

sustainable solutions. We need to involve citizens

52. Which among the following is the most

51. Which one of the following statements best

reflects the central idea of the passage (a) Our cities need to have well-defined
given above ? administrative set-up with sufficient
(a) Efficacy of universities would be better autonomy.

in online mode of conducting classroom

tuition as compared to conventional (b)  Ever increasing population densities is a
Y method. hindrance in our efforts to achieve
(b)  Availability of higher education can be sustainable development.

made easier and cheaper without

diluting the content. (¢) To maintain and develop our cities we
(0 We need not invest much in need to adopt sustainability related

infrastructure  related to  higher interventions.

education and yet develop better human

and social capital. (d) Public-Private Partnership mode of
(d) Private sector institutions in higher development is the viable long-term

education as well as coaching institutes solution for the infrastructure and

e tak-e advantage of this opportunity sustainability problems of India.

and thrive well. 2

BXC-B-GYLI I (33=A)
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53. & a1 favm 4w & gHH

¥ TH & THRE *
F9 T R fmiy e @l & fou wwm
gty @« & | It 57 3 3 99 3R 5 ufa
e, 3R fasm 3 2 99 iR 7 Ut @, @
frafefaga # & sH-a w8 2 2

(a) U o1 e, T F e @ 3t B

(b) Uftre 3 99 & Hou T |

(¢ U 1 o, Ufha % eI | g @

@) U e, e % qew & o @

54. T qO&T H P I Q ¥ 40 3% A4 yra fhu |
Iz Q 7 P ¥ 10% A 3% Ura oy, @ Q A
ferem 31 e fop 2
(a) 360
(b) 380
(c) 400
d 420

55. T& AT P 3 39d o i # @ wh fm X @
w1 6 3w q fhaT v | X 4 I fa,
“Gfe YR 40 AT R, AN Y % UE Z | I
v B, fohg AR Z 99 < 40 a1 B, @ wW A
% I SR o9 B 17 X, Y 3R Z % 9 FA
o g7 2 2
(a) T420
(b) T 360
(e) T300
@ <270

56. TH FHIWW H ‘MATHEMATICS @I
‘LBSIDNZUHDR’ % &9 # fo@n wmar 2 | 36
Fe-umT # ‘CHEMISTRY i & forar smem 2
(a) DIDLHRSSX
(b) BIDNHTSSX
(¢ BIDLHTSSX
(d DGFLIRUQZ

BXC-B-GYLI

(34—A)

57'

58.

59.

60.

e Y
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eeeeeeeeeeeeeeeeeeeeee , You Smart

fafofea # @ frm am, fordt ot & =2 $r
gs au fme f g smwm # 180° H B
st 2

7:00 &t

(a)

(b) 7:00 3 7:05 9 % f=

(¢) 7:05%

(d) 7:053W 7:109 & =

90 Y dTefl Teh TEGFE wlen #, Tw WE IW
¥ fog 5 3 fuffa fove o § i v o

I F 7T 2 37 e 9d # | @t 90 Wl H
IW A W, & fgaeff H Fa@ 387 3F® W
TU | e IRl 6t T a2

(a) 20

(b) 13

(e e 27

d 43

Freafefaa
Hifsm
3P + 4P + PP + PP = RQ2; 9&l P, Q 9% R f¥=
3 B |

=7 oft H9Te AR 1 GHI WTET T 8 ?

(tfee) & w9\ ® faEwR

102
120
202
220

(a)
(b)
(c)
(d)

e oA (afeefemrem) $ @ = ffmr
Hifvre

(PQ) x 3 = RQQ, 5T& P, Q 3/ R fi o7 & 3R
R#O%I

(P+R) + Q& UH I 2 ?

) Rl

b 2

© 5

@) ST AHS F Frwr Fuifa T
EIR:Cl
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53. Jay and Vijay spent an equal amount of|57.
money to buy some pens and special pencils of
the same quality from the same store. If Jay
bought 3 pens and 5 pencils, and Vijay bought
2 pens and 7 pencils, then which one of the
following is correct ?

(a) A pencil costs more than a pen

(b)  The price of a pencil is equal to that of a
pegt 58.

(c)  The price of a pen is two times the price
of a pencil

(d) The price of a pen is three times the
price of a pencil

54. P scored 40 marks more than Q in an
examination. If Q scored 10% less marks than
P, then how much did Q score ?

(a) 360
(b) 380
(C) 400 59. L
(d 420

55. A person P asks one of his three friends X as
to how much money he had. X replied, “If Y
gives me ¥ 40, then Y will have half of as
much as Z, but if Z gives me ¥ 40, then three
of us will have equal amount.” What is the
total amount of money that X, Y and Z have ?

(a) T420
(b) ¥ 360
© %300 60.
@ ©270

56. In a code language ‘MATHEMATICS is
written as ‘LBSIDNZUHDR. How is
‘CHEMISTRY’ written in that code language ?

(a) DIDLHRSSX
(b) BIDNHTSSX
(c) BIDLHTSSX
(d) DGFLIRUQZ
BXC-B-GYLI (35~A9
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Lets Work Together, We Hard, You Smart

At which one of the following times, do the
hour hand and the minute hand of the clock
make an angle of 180° with each other ?

(a) At 7:00 hours

(b) Between 7:00 hours and 7:05 hours

(¢) At 7:05 hours

(d) Between 7:05 hours and 7:10 hours

In an objective type test of 90 questions,
5 marks are allotted for every correct answer
and 2 marks are deducted for every wrong
answer. After attempting all the 90 questions,

a student got a total of 387 marks. What is the
number of incorrect responses ?

(%) =8

(b) 13
(c) 27
(d) 43

Consider the following addition problem :
3P + 4P + PP + PP = RQ2; where P, Q and R
are different digits.

What is the arithmetic mean of all such
possible sums ?

(a) 102
(b) 120
() 202
(d 220
Consider  the following multiplication
problem :

(PQ) x 3=RQQ, where P, Q and R are
different digits and R # 0.

What is the value of (P + R) + Q ?

(ay: 5k

(b): 2

(¢) 5

(d) Cannot be determined due to

insufficient data
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fRvaforeaa 2 (71) searen & forg e :

#9 fe 10 7 9R=SG F GeT K R=SG F A9
3 T FerEl & I e | §7 Fe F kg

HTE I FaT 3 GRese W & mwiid &

13T |
ufese -1

FT B cAlhdd < THT dh HeITIThRI
US98 ¥ &9 ehal & ? S HAW B g0 F9 A
IR W F AE SIS ST FhAT & ? SR 3R
Arhdd & o9 Iiaifed qE faemE ® | SR
- SAfh-TH-d (die) % fagia w wr @ = g,
S 5 ol o BT 2 | I oAh SR ¥ T A
qraT 2, I8 3G ufaw, i, sA-SE qU 6
it amafd i gmar w it e R | AR w5
wrEl 3R Hee #1 gfaee 9 #, 3 Fgd |«
F TN F e TEeE ¥ St 33T 6 F,
g o @l B WY B 5 fawE + o w40
SR & 78 fire e R, wom # R A 8 W
i EE: 9gd W AN § iR 9gd e B 8
YT T PN [Tehidd B H BBl I AT
3 | S AwtEt gia w6 spwa @
"Rl # GHd 8, fhg foflee w@wW @
Ferm-Rrewre @ wef @R |

61. Iw uiese % wed #, Fefafed geemomd
TS S B
1. snyfie Sid T 6 v W AR
2 a1t 3 HeaUHH! TSI &9 T |

9. drhadl H IWEl W % fou sEvEes
wfe a7 gfg i s gifeea ww@ @ |

3. e foerm o 918 ge MU A % fag
T HHEHAT h TR 8 |

e # ¥ R qhawon/gEerend 5=

2/ 2

(a) . had 1 3R 3

(b) had 3

(c) had 2 3N 3

d 1,233

BXC-B-GYLI
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uuuuuuuuuuuuuuuuuuuu , You Smart

ufesg -2 .

TR faed #, W d w=l &
fifeehl, i iR sfoem@ don #AR TE W FD
T 2, 37 91 H g9 $9 Te[ 3 58 S i
sawaal & | g F1 & 3% 3w d wemd
WE B wfedg Hit Fgamee F a) H, T g
¥ wgd 93 @ # ofda FW a g@
gl % ar #, wfgenedt % wfa degAeieEr
(Srer Afafefadt) & wm #, fakew & w0 &
frfivatarg & gwran, e & aR & foam @
& 298 ot 31 € HEwql @ o6 w0 #H 3% T
e 1 e Q@ E, ot 3% Faa FfseE
R TR IS UE wW I fem 3@ # 2
faarem 6 w9 (Fgs) ghE A fve,
s &, e/ fead wa wt favafaemem
& 337 g § wren/arht @ | TRt 9w foed,
gyral iR femmumstt & gg ¥ §' /St
2 | I8 g 35 fog FEgEt @ @l g,
R W e N W wEm FH % fou
FdlcaTied foam T & |

62. Frfafaa # & #H-a1 9 I I8 &

Fghe farer @1 @aia &9 & T 2 ?

(a) Toremerft grewsen =i o SifraRi
et % IR TEl & |

(b) s Syl W sa & F Afhed IR
Fve & e % e ong fierar 2 |

() ==l 1 g ARE T $ U AR
FE1, WEn serw f @ @
=ifee |

(d) WER TR wH % fow, sdE fova
e s ey % i,
gt 3R Sfiaa-arue wivre 6t |9 ot
EXGIRA

(36 =A)
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EKAM IAS ACADEMY

Directions for the following 2 (two) items : Passage - 2 '~"Emmimoem

Read the following two passages and answer the
items that follow. Your answers to these items should
be based on the passages only.

In our schools; we teach our children all that

is there to know about physics, maths and

Passage - 1

Can a democracy avoid being a welfare state
for long ? Why cannot mass welfare be left
entirely to the markets ? There is a built-in
tension between markets and democracy.
Markets do not work on a one-person-one-vote

principle as democracies do. What one gets out of

the market place depends on one’s endowments,
skills, purchasing power and the forces of
demand and supply. Markets reward individual
initiative and skill, and may also lift many from
the bottom rungs of society, but some people
never get the opportunity to develop skills that
markets demand; they are simply too poor and
too handicapped; or skill formation takes too

history and what-have-you. But do we teach
them about the bitter caste divide that plagues
the country, about the spectre of famine that
stalks large parts of our land, about gender
sensitivity, about the possibility of atheism as a
choice, etc. ? Equally important, do we teach
them to ask questions, or do we teach them only
to passively redeive our wisdom ? From the
cocooned world of school, suddenly, the
adolescent ﬁnds himself/herself in the unfettered '
world of university. Here he/she is swept up in a
turmoil of ideas, influences and ideologies. For

someone who has been discouraged from asking

long. By creating jobs, markets may be able to
help even unskilled people, but capitalism has
always witnessed bursts of unemployment.

questions and forming an opinion, this transition
can be painful.

61. With reference to the above passage, the 62.

Which one of the following statements best
following assumptions have been made :

reflects the central idea of the passage

1.  Modern democracies rely on the market :

forces to enable them to be welfare s il B

states. ' (a)  School curriculum is not compatible with
2. Markets ensure sufficient economic the expectations of children and parents.

growth necessary for democracies to be

: (b) Emphasis on academic achievements
effective.

does give time for development of
3.  Government programmes are needed for

those left behind in economic growth.

personality and skills.

(¢) Preparing the children to be better

Which of the above assumptions is/are ;

valid ? citizens should be the responsibility of

(a) - 1and 3 only the education system.

(b) 3only (d) To be a better citizen, the present world

(¢) 2and 3 only order demands societal and life-coping

@ 1,2and3 skills in addition to academic content.
BXC-B-GYLI (37 :3&7) ACADE
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63. o f9g P, Q 99T R TF WA @1 T 30 THR
fPagfFPQ:QR=3:52 1aR PQ: PR &
GUTS W sl TE&T n 2, a1 n e sU=R 8 ?
(a)is '

(b) 2
© 3
4

64. T fomma (IS a1E) W U €Y 9 FHi Fa
7 foerort W 6 sHATTA T bt foha faftm weR
§ wgfaq foram s whar & 2
(a) 4 : 69.
(b) 6
8
@ 12

65. 9 fou T WR fawedl & @ s fawew &
I Hd groft _b_a_ba_b_abab_aab 1
foemm o8 s Tl (_ ) & 38 W@ W arfe
77 aoft, vk fafire 0 &1 srgem = |
(a) bababa
(b) baabba
(c) bbaabb
(d) ababab

66. 3IHi % ®T U 2 2 3 3, 3 H WA Hd |70
§T, 30000 & =t foreft firmr weamd s wendll
&2
(@) 3
(b) 6
(c)

@ 12

67. T=fefaa el W e Hife .

1. 5 SHATT YUIfehi T INTHS 100 B Tehdl
7 _

2. oF HAFE gA-gUiR F PEEA 36
ANTHS o S & Fehl 2 |

39 HYAl § A HH-A1/HH-Y TE B/F ?

(a) had 1

(b) Had 2

(¢) 13 2eMT

d TMNMLAE2

BXC-B-GYLI (38~A)
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eeeeeeeeeeeeeeeeeeeeee , You Smart

68. 1m Y1 I Th OHIT U o § T W g

2 | 3uH foae fuferefier &t B (9 <t Aie
T 7)) 2

(a) 1000
(b)
(¢) 100000

(d)

10000

1000000

U Ufth § 6 =AfE & | Uk 3 AT &I 30 A
3 Afthal ¥ 39 ThR &1y femn 2 f5 a8 @
HATTd AfRAl § w19 @ femen | W feaw
i gvren gaeH # 71y e S awd § 2

(a)

(c)

3
(b) 4
5
d 6

QEE‘HQEﬁW A B IdwcFAud potq T
3rara # foafa i i |
Frafafga HoAt | four FHifT

1. aﬁa p, (q+r) T afees iﬁ, @AW
ftreraw 3w farem |

2. AW, (p+ @AWY, A CH W
3w frm |

Iwfh HoEl § ¥ PHA1/HH-A T 2/7 2

*ad 1

(b) HIA 2

© 1323

TdLAR2

(a)

(d)



63. There are three points P, Q and R on a
straight line such that PQ : QR =3:5. Ifn is
the number of possible values of PQ : PR, then
what is n equal to ? :

(a) 1
(b) 2
(c) wsd
d 4

64. On a chess board, in how many different ways
can 6 consecutive squares be chosen on the
diagonals along a straight path ?

(a) 4
(b) 6
{e)-=8
(d)+ 312

65. In the series _b_a_ba_b_abab_aab; fill in the
six blanks ( _ ) using one of the following given
four choices such that the series follows a
specific order.

(a) bababa
(b) baabba
(¢) bbaabb
(d ababab

66. Using 2, 2, 3, 3, 3 as digits, how many distinct
numbers greater than 30000 can be formed ?
(813
(b) 6
(¢c) ' 9
(d) 12

67. Consider the following statements :

1.  The sum of 5 consecutive integers can be
100.

2.  The product of three consecutive natural
numbers can be equal to their sum.
Which of the above statements is/are

correct ?

(a) 1only

(b) 2 only

(¢) Both1land?2

(d) Neither 1 nor 2
BXC-B-GYLI
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A cubical vessel of side 1 m is filled completely
with water. How many millilitres of water
is contained in it (neglect thickness of the
vessel) ?

(a) 1000
(b) 10000
(c) 100000

(d) 1000000

There are 6 persons arranged in a row.
Another person has to shake hands with 3 of
them so that he should not shake hands with
two consecutive persons. In how many distinct
possible combinations can the handshakes
take place ?

(a) 3
(b) 4
(0 5
(d 6

An amount of money was distributed among
A,Band Cintheratiop:q:r.

Consider the following statements :

1. A gets the maximum share if p is
greater than (q + r).

2. C gets the minimum share if r is less
than (p + q).

Which of the above statements is/are

correct ?

(a) 1lonly

(b) 2only

(¢c) Both1land?2
(d) Neither 1 nor 2

(39A)

Ashok Nagar X Roads, Hyderabad-20 | www.ekamiasacademy.com | 81210 17337




Referfera 3 (i) seren & forg R -

7 e 1@ 3 TR=Be F iy ik =B ¥ 79
317 Tt I & IR AT | 37 FEEH & forw
H9H I Fad 31 RS W & rula &
T | '

- ufeBg-1

eEAYfH SR T % AR T TEe
% forw Twm ant (fyees Te) & @ad 1 Sifew
3314 ;1541 warsdt H, goh ISt 9T goTed!
RS 3 W T 3 @l iR wET @
o ufifaa fava &t @i @ @ aon H
tfoetaes 3ft & 2@ @ w9 FEeEl i @ @
TEel @ FH + o W w ? | fame
3k o wasR I & | =R @R Hed A
AT FATARHIT FaRer, i so= &1 Fmior
B Fafer st ITH HE B THAS WY & —
TR FETYAT 1 Fsehdor € 98 39 R |

71. Tafafea & & ®Fa woF e fesg &
T qr R 2

(a) ﬁ?&"ttﬁﬂﬂaﬁummmﬂfﬁzﬁmm
1 Yo HT 81 2 |

(b) rafe garlt wieft srfegewen @ @
HUT, ¥R 98 °@R Hea ° foewe sfafa
Bl 3T AR Al |

() TIE geId: e ufawer & fom =8
ARGl I @I FH F fore I B # |

d) TS AN & IEH A4 H FGER & 9

Yo T STER BT 8 |
BXC-B-GYLI

_®
ufesa

“.... SR @M wewa & 6 wng
Tt Fo faum aRferfeosi 1 stew, sl oo
S ¥ e @ e, T
e T ® | T ab % waifus gegard
WM EWEd: Wgd R @ sien 8, f
e -fawres (fifess) smmew wrn w1 wwar
m%w.mﬁgﬁwﬁmﬁm%,ﬁh
FHATE HreT-awe gar g 1”7

72. 39 Uiedg & wuw W #, fw fomm w1 3g@

fopa man 2 2

(a) TE Siaq & d9Y | Heufd
(b) I HeH & HaY H EAld
(c) T e & Fay ¥ r@eafd

(d) ¥ ¥ ¥ g9 a9t g ¥ ey #|
TEEATT

78. Tefefgd # @ s srga sr=s @ni § sgan

9Ts St 8 2

(a) | 3R @ &l fafya F

(b) T I THA & a1y i fafda s
(c) q=Al 1 fhzamshtor

) T 1wt foura

(_40—A)

Ashok Nagar X Roads, Hyderabad-20 | www.ekamiasacademy.com | 81210 17337

EKAM IAS ACADEMY
-2 Lets Work Together, We Hard, You Smart



Directions for the following 3 (three) items :

Read the following two passages and answer the
items that follow. Your answers to these items should
be based on the passages only.

~ Passage -1

Medieval merchants risked the hazards of
the Silk Road to reach the markets of China;
Portuguese caravels in the 15" century sailed
beyond the bounds of the known world, searching
less for knowledge than for gold and spices.
Historically, the driver for opening frontiers has
always been the search for resources. Science and
curiosity are weaker drivers. The only way to

open up space, whether the space of solar system

(27

e
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Passage - 2

“

.. most people would agree that telling
deliberate lies is wrong, except perhaps in certain
special situations where more harm will be done
by telling the truth. Even the most truthful
people probably tell a good many more lies that
might be regarded as semantic lies; their use of
words contains some measure of falsehood, more

or less deliberate.”

; : : 72. The idea which the first part of the passage
or interstellar space is to create an economic
engine and that engine is resource extraction. T tonsls
(a) agreement about telling lies.
(b) disagreement about telling lies.
71. Which one of the following statements best & i mmasl ABOUE Yalking the truth.
sums up the passage given above ?
(d) disagreement about the harm in telling
(a) Wealth generation is the primary motive the truth.
for any human endeavour.
(b)  Space, whether space in solar system or |73, Which one of the following habits is found
interstellar space, will govern our future more often in good people ?
economy.
(a) Mixing up the true and false
(¢) Human beings are motivated to explore
néw frontiers principally by economic (b) Intentional mixing up of truth with the
false
considerations.
: ¢ (¢c) Falsification of facts
(d) Wealth generation is based on the
risk-taking behaviour of some men. (d) Complete concealment of truth
BXC-B-GYLI (41-A),
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77. X 3 Y @ Fa, Ok 9 % gng A0 oy

78.

79.

80.

(42 5A0)

A adwE g K gE ot 17 AR x F;

I Y 42 a9 B, °@ FefafEgd w0 w

forem HhifSre

1. 834 ggd, X it 31y, Y i oy A oi=
om ot |

2. gﬁaﬁm,xﬁa@,\’aﬁfmaﬁgﬂ

|

37 Sl § A HH-AT/HEY T /E 2

(a) had 1

(b) A 2

(¢ 13 23M

@ TAMLTE 2

Ife forelt aeg % g # 20% w1 Bar & 3R

U qe § 25% Jfg B B, @ oI A 4 uiEdq

fopan gam 2 2

(a) 0%

b) 5%3fG

() 5%8H™

(d) 9T 3fwel % wror Ruffa 7& e
ST Hehall

vie ferelt ffeara @@ =t 7 | 7o foRan s, &
TH%A § QU §9 | FaA TH B 37 (1111...)
& wifae gt # | UE agan sen s R 2
(a) 15713

“(b) 15723

(c) 15783
(d) 15873

s aft freft w1 & 7/8 o/ Y 21 o7 & @@
a1 8 | afg w1 hit wmn § 50% i o g A
T, @ 3H 3F B H TEE HA A fhaw Ba
IR T 2
(a) 24
(b) 21
(c) 18
@ 15
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74. A pie diagram shows the percentage|77. X said to Y, “At the time of your birth I was
distribution of proteins, water and other dry twice as old as you are at present.” If the
elements in the human body. Given that present age of X is 42 years, then consider the
proteins correspond to 16% and water following statements :
corresponds to 70%. If both proteins and the 1. 8 years ago, the age of X was five times
other dry elements correspond to p%, then Do bl Y,
what is the central angle of the sector % A.fter 14 yeaxs, the age of X would be two

: el g times the age of Y.
TORrCw o1 tho i e 7 Which of the above statements is/are
(@) 54 correct ?
(b) 96° (a) 1lonly
(e) - ' 108° (b) 2only
@ 120° (¢) Both1land2
(d) Neither 1 nor 2

75. Joseph visits the club on every 5th day, Harsh
visits on every 24 day, while Sumit visits on |78. If the price of an article is decreased by 20%
every 9t day. If all three of them met at the and then the new price is increased by 25%,
club on a Sunday, then on which day will all then what is the net change in the price ?
three of them meet again ? (@ 0%

(a) Monday (b) 5% increase
b) Wednes Pl (¢) 5% decrease
(d) Cannot be determined due to
(¢)  Thursday insufficient data
(d) Sunday
79. When a certain number is multiplied by 7, the

76. The difference between a 2-digit number and product entirely comprises ones only (1111...).
the number obtained by interchanging the What is the smallest such number ?
positions of the digits is 54. (a) 15713
Consider the following statements : (b) 15723
1.  The sum of the two digits of the number (c) 15783

can be determined only if the product of (d) 15873
the two digits is known.
2.  The difference between the two digits of [80. A man completes 7/8 of a job in 21 days. How
the number can be determined. many more days will it take him to finish the
Which of the above statements is/are job if quantum of work is further increased by
correct ? 50% ?
(@) 1only (a) 24
(b) 2 only (b 21
(c) Both1land?2 (c) <518
(d) Neither 1 nor 2 @ 15
BXC-B-GYLI (43889 A
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1 21 A 41 A 61 B
£ 22 D 42 E 62 D
3 23 D 43 D 63 B
4 24 D 44 A 64 B
5 25 C e 65 D
6 26 A 46 B 66 B
7 -] C 47 B 67 C
8 28 C 48 A 68 D
9 29 C 49 D 69 B
10 30 B 50 C 70 A
11 31 C 51 B 71 C
12 32 G 52 C 72 D
13 33 C 53 G 73 B
14 34 B 54 A 74 C
15 35 D 55 B 75 B
16 36 C: 56 B 76 B
17 37 A 57 D 77 B
18 38 e | 58 A il A
19 39 Co-r D 59 e 79 D
20 40 -5 A 80 D
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